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MAC 2311 - Period: Name: K'-‘-ﬂd

Quiz 6 - Form A
October 13, 2015 Show your work to earn full credit.
1. Let f(z) and g(z) be dlfferentlable functions such that f(2) = -1, f'(2) =5, g(2) = -2, and

g'(2) = 4. Given that h(z) = find K/(2). (2 points)
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2. Find f'(z) and f"(z) given that f(z) = ¢ ' q

oy (2 points)

£y 3te™ — 6xe¥ _ \'f:_ \ - __ﬂ m(——)

Gzt) p .

(-3 %)

® G o

3. Given that g(z) = 3sinz — cosz + z° determine ¢'® and ¢''?"). (2 points)
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MAC 2311 - Period: Narne: Kc Li/
Quiz 6 - Form B
October 13, 2015 Show your work to earn full credit.

1. Let f(z) and g(x) be diﬁ'erentiable functions such that f(2) = —1, f'(2) = 5, g(2) = -2, and
§'(2) = 4. Given that h(z) = iy ﬁnd K(2). (2 points)
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2. Find f'{(z) and f”(z) given that f(z) =
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3. Given that g{z) = sinz — 2cosz + 2% determine g™ and %), (2 points)
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MAC 2311 - Period: Neme: €Y
Quiz 6 - Form C -
QOctober 13, 2015 Show your work to earn full credit.
1. Let f(z) and g(z) be dlﬁerentlable functions such that f(2) = -1, f'(2) = 5, g(2) = -2, and

7' (2) = 4. Given that h(z) = @@ £ 2 ) ( ﬁnd R'(2). (2 points)
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2. Find f'(z) and f"(z) given that f(z) =1 (2 points)
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3. Given that g(z) = sinz — 3cosz + 2® determine g(*) and ¢\'%). (2 points)
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MAC 2311 - Period: Name: Ke-'-{ foen
Quiz 6 - Form D e

October 13, 2015 Show your work to earn full credit.

1. Let f(z) and g(z) be differentiable functions such that f(2) = -1, f(2) = 5, g(2) = -2, and
2
¢'(2) = 4. Given that h(z) = 5 find #/'(2). (2 points)
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2. Find f'(z) and f"(z) given that f(z) = 3 o3 (2 points)
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3. Given that g(z) = 2sinz — cosz + 29 determine ¢® and g1%). (2 points)
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Problem References:

1. Section 3.3 #40 - 42 and Webassign HW 6 #15, 16.
2. Section 3.5 #16.

3. Section 3.6 #43 and Webassign HW 6 #7.



